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Answer any FIVE questions, each answer not exceeding 75 words:
 
1. What do you understand by industrialization?

2.  Bring out the strategy of industrial development adopted 

3.  Give the classification of industries as made under 1956 industrial policy.

4.  State the objectives of public sector in India.

5.  Mention the reasons for sickness in Indian sugar industry.

6.  List four arguments in favour of small

7.  Can railways in India be privatized?

 

Answer any FOUR questions, each answer not exceeding 300 words
 
8.  Bring out the factors hindering industrialization in developing countries.

9.  What is industrial licence? Explain the need for liberalization of industrial policy in India.

10. What are the reasons for poor performance of public sector enterprises in India?

11. Discuss the problems of small-scale enterprises in India.

12. Discuss the significance of road transport for the Indian economy.

13. Write the salient features of the Textile Policy of 2000.

14. What are the problems of Indian shipping?

 

Answer any TWO questions, each answer not exceeding 900 words: 
 
15. Give a brief analysis of the growth of Indian industries Since 1991.
 
16. Trace the evolution of industrial policy in India.
 
17. Explain the policy decisions under the New Economic Policy regime for improving the
      performance of public sector enterprises.                           
 
18. Discuss the significance of petrochemical industry to the Indian economy.
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PART - A   

  
Answer any FIVE questions, each answer not exceeding 75 words:  

What do you understand by industrialization? 

2.  Bring out the strategy of industrial development adopted under India’s five year plans.

3.  Give the classification of industries as made under 1956 industrial policy. 

4.  State the objectives of public sector in India. 

5.  Mention the reasons for sickness in Indian sugar industry. 

our of small-scale enterprises. 

7.  Can railways in India be privatized? 

PART – B     

 
Answer any FOUR questions, each answer not exceeding 300 words:  

8.  Bring out the factors hindering industrialization in developing countries. 

What is industrial licence? Explain the need for liberalization of industrial policy in India.

10. What are the reasons for poor performance of public sector enterprises in India?

scale enterprises in India. 

the significance of road transport for the Indian economy. 

13. Write the salient features of the Textile Policy of 2000. 

14. What are the problems of Indian shipping? 

PART – C 
   

Answer any TWO questions, each answer not exceeding 900 words:   

15. Give a brief analysis of the growth of Indian industries Since 1991. 

16. Trace the evolution of industrial policy in India. 

17. Explain the policy decisions under the New Economic Policy regime for improving the
performance of public sector enterprises.                            

18. Discuss the significance of petrochemical industry to the Indian economy. 
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                                              Max. : 100 Marks 

       (5 x 4 = 20 marks) 

under India’s five year plans. 

 (4 x 10 = 40 marks) 

What is industrial licence? Explain the need for liberalization of industrial policy in India. 

10. What are the reasons for poor performance of public sector enterprises in India? 

 
    (2 x 20 = 40 marks) 

17. Explain the policy decisions under the New Economic Policy regime for improving the 


